OXFORDSHIRE COUNTY COUNCIL

REPRESENTATION OF THE PEOPLE ACT 1983 (SECTION 36(4))

SCALE OF EXPENDITURE FOR ELECTIONS OF COUNTY COUNCILLORS

(Applicable to elections held during period 1 April 2015 to 31 March 2016)

Only the fees and disbursements specified below shall be chargeable. The fees payable to the Returning Officer or her duly appointed Deputy Returning Officer shall include all payments which he/she makes from his/her fees to other persons by way of remuneration of services undertaken on his/her behalf.

In no case shall a charge exceed the sum actually and necessarily paid or payable by the Returning Officer. Subject to this the maximum charges are set out in the scale. These fees will apply to other polls/elections/referendums.

PART I - UNCONTESTED ELECTION

A – FEES

1. 2.	To the Returning Officer, for conducting the election and generally performing the duties required by any enactments relating to the election, other than any duties for which separate fees are provided. For each Electoral Division, a fee of To a Deputy Returning Officer appointed for the purposes of conducting and generally performing the duties assigned by the Returning Officer, other than duties for which separate fees are provided. For each	1-member £43.95 2-member £87.90 1-member £29.15 2-member £58.30
-	Electoral Division, a fee of	
в –	DISBURSEMENTS	
3.	 Preparation of poll cards and postal vote cards (a) For supervising the preparation and issue of official poll and postal vote cards. For each Electoral Division, a fee of (b) For the employment of persons in connection with preparation and issue of official poll and postal vote cards. For every 100 cards or fraction thereof for each Electoral Division, a fee of 	1-member £18.40 2-member £36.80 £2.30
4. 5.	For the employment of persons for clerical and other assistance. For each Electoral Division Travelling expenses of the Returning	1-member £21.50 2-member £43.00
0.	Officer, Deputy Returning Officer and Assistants. Per mile	£0.45

6. For printing and providing forms, notices and other documents required for the election, including the printing costs, computer charges and all associated costs of producing official poll and postal vote cards, together with advertising expenses, postage, telephone calls and miscellaneous expenses

Actual and necessary cost

PART II - CONTESTED ELECTION

A – FEES

- To the Returning Officer, for conducting the lection and generally performing the duties required by any enactments relating to the election, other than any duties for which separate fees are provided. For each Electoral Division, a fee of.......
 To a Deputy Returning Officer appointed for the purposes of conducting and generally.
- the purposes of conducting and generally performing the duties assigned by the Returning Officer, other than duties for which separate fees are provided. For each Electoral Division, a fee of

(If a duly appointed Deputy Returning Officer also carries out the functions specified under Item 9 of this scale, he will be entitled to claim the fees payable under both item 8 and item 9 of the scale)

9. To a Deputy Returning Officer appointed solely for the purposes of rules 25(b) and 38 to 46 of the Local Elections (Principal Areas) Rules 1986 (or such legislation as may subsequently be enacted), for making arrangements for counting the votes and declaring the result of the poll. For each Electoral Division, a fee of.
9. To a Deputy Returning Officer appointed 1-member £58.30 2-member £116.60
9. To a Deputy Returning Officer appointed 1-member £58.30

(A Deputy Returning Officer appointed under this item cannot claim the fee payable under item 14 of this scale)

9A. For each Recount	£14.00		
B – DISBURSEMENTS			
10. Presiding Officer, a fee of or where a poll is combined with a district	£180.00		
council or parish council poll, a fee of	£205.00		
11. Poll Clerk, a fee ofor where a poll is combined with a district	£115.00		
council or parish council poll, a fee of	£132.00		
(The fees for presiding officers and poll clerks include all expenses other than			

travelling expenses specified in item 21 of this scale)

12. An additional poll clerk may be employed full-time or part-time at a polling station at the discretion of the Returning Officer or his duly appointed Deputy Returning Officer, and may be paid an appropriate proportionate amount within the fee payable under item 11 of this scale.

13. 14.	For the provision of training for polling station staff, including a payment for staff undertaking the training Counting/Verification Supervisor:	£30.00 per presiding officer and poll clerk
	A fee of (a) for the first hour (b) for each half hour thereafter or part	£16.00
15.	thereof Counting/Verification Assistant:	£8.00
	A fee of (a) for the first hour (b) for each half hour thereafter or part	£12.00
	thereof	£6.00
16.	For the employment of persons for clerical and all other assistance other than where separate fees are provided. For each Electoral Division	1-member £108.50 2-member £217.00
17.	 Preparation and issue of poll cards and postal vote cards (a) For supervising the preparation and issue of official poll and postal vote cards. For each Electoral Division, a fee of (b) For the employment of persons in connection with preparation and issue 	1-member £18.45 2-member £36.90
18.	of official poll and postal vote cards. For every 100 cards or fraction thereof for each Electoral Division, a fee of To an officer designated by the Returning Officer or his duly appointed Deputy, for	£2.30
	inspection and supervision of polling stations. A fee of	£190.00
19.	For preparation of ballot boxes. For each polling station, a fee of	£3.65
20.	For issue and receipt of postal ballot papers. For each Electoral Division (a) where the number of postal ballot papers issued is less than 25, a fee of	£24.10
	 (b) plus for each additional 25 or part thereof issued thereafter, a fee 	
	of	£11.55

AG6

v cost
v cost
/ cost
/ cost
v cost
v cost
/ cost

NOTE: At a combined election of County with District or Parish Councillors, wherever appropriate the costs are to be shared on an equal basis between the relevant Authorities, unless a particular expense can actually be allocated to a specific authority.

Peter G Clark, County Solicitor and Monitoring Officer Agreed by Audit & Governance Committee: (date to be completed)